2 SLO AA HL Short Test 4 October 21, 2024

1. [4 points]
(a) Write sin 2 —+/3 cos z in the form Rsin(z —a), where R and « are to be found with R > 0 and 0 < o < 5

(b) Hence solve the equation:

sinz — V3cosz = V3

for 0 < z < 2m.
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2. [4 points]
Solve the equation:

cos2x + cosdxr =0

for -t <z <.
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3.
(a) Show that:

axr

Sin(2 arctan ZZ:') = m
T

where a and b are constants to be found.

(b) Hence solve the equation:

4
2 arctan x = arcsin (5)

[6 points]
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4. [6 points]
Given that seca = 2 and cot § = —3 with 0 < 8 < 7 < a < 27, find the exact value of sin(a + 20).




